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Speedy Maths - ANSWERS


	BRONZE
	Your working out: 

	1)
	106 808 + 94 329 = 201 137
	
	

	2)
	3648 ÷ 8 = 456
	
	

	3)
	3³ + 28 = 55
	
	

	4)
	20.05 + 0.41 = 20.46
	
	

	5)
	25% of 420 = 105
	
	

	SILVER
	

	1)
	14.53 x 6 = 87.18
	
	

	2)
	0.6 ÷ 10 = 0.06
	
	

	3)
	3/5 x 2/7 = 6/35
	
	

	4)
	XC = 90
	
	

	5)
	11% of 40 = 4.4
	
	

	GOLD
	

	1)
	A rectangular garden has an area of 30m². 
The width is 4m. What is the length? 7.5m
	
	

	2)
	How many days are in September? 30
	
	

	3)
	3c + 8 = 20 
What is the value of c?   c = 4

	
	

	4)
	Convert 01:00 (24 hour) to a 12 hour format:    1.00am

	
	

	5)
	What is 7/20 as a percentage?  35%
	
	





Bronze =	 	/5
Silver = 		/5
Gold = 		/5
Total = 		/15



